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arA=g fad&er (General Instruction) :-

@t gea srfaardf &1 (It is mandatory to answer all the questions.)

gos7l #r Hel &I 40 &1 (The total number of question is 40)

g% o7 & falv 1 I+ [ReRT &1 (Each question carries 1 mark.)

9% 597 & aR RFey Ruav &, 375 & ve agdl f@deq #1737 FHAT/I (Each question is provided with 4 options,

Choose the correct option.)
o Toid IV & [T FiE I g 12 GG (There will be no negative marking for any wrong answer.)

faférse fader - @vs 3 3rear ‘@ # & 5 v @vs & @3t el 3w S |
Special Instruction - Answer all the questions of either Part ‘A’ or Part ‘B’.

HUS 3 (SIGHT & dcd)
Part A (Elements of Business)

1. ToTRITeTeh SHRETe AT AT el fohdl SeinaT i faeeel A0t & 311 8 (Which of the broad categories of Industries

covers oil refinery and sugar mills)?
(a)9TATAS (Primary) (b) &fade (Secondary)
(c) JirTeh (Tertiary) (d) TR & ST (None of these)
2. T g 1 3nfer foram # omsT @R 31T TSI T STt & (In which type of economic activity income is

earned through people) ?

(a) STIATHT (Business) (b) 92IT (Profession)
(c) USTITR (Employment) (d) TR 7 =T8T (None of these)




3. IA-AT TS, ‘STIATT H T T ${fAhT § Foafetrcd =€ & (Which point is not related with the role of profit in
business)?

(a) oTFs AT deh SHfAd 31 o felT (Long Survival)
(b) ST 3TeTs AT (Employment generation)
(c) 31T efrer Taeera & forT (Rapid growth)

(d) perefaT gefer  ferw (Skill development)

4, ‘FHHETATRIT T SSATAT Th T YhR T SITGAT A SITEA g2 (Which type of the business risk is the chance of loss
due to dishonesty of employee)?
(a) TSI AT (Government Policy) (b) ATTET (Human)
(c) 3k (Economic) (d) IThfdsh (Natural)
5. 3cUTGeh ol TadIT HETIAT YGTeT il & (Financial assistance to producers is provided by)-
(a) Yo SITINT (Wholesaler) (b) BT SATIRT (Retailer)
(c) 9IT@eh (Customer) (d) §¥P (Government)

6. Ppeehl SATIRY AT STicll ¢ (A retailer sells goods to)-

() 3THIFAT3I ST (Consumers) (b) 3cTTGehT T (Producers)

(c) Ureh =TTITRAT ST (Wholesalers) (d) TTHR T (Government)
7. ETE TR Peehy ST H FIFATEIT & - (Large scale retail trade includes)-

(a) TaHTINT $7USR (Departmental Store) (b) IR STSTX (Supermarket)

(c) 3% aRT <ITUIR (Postal Trade) (d) 3T & T (All of these)
8. ATE Pl AT 3UR S A 3T 3TF FEATT STt & AT &- (Means to know the economic condition of

a customer while lending the goods are -

(a) ST (Banker) (b) saTaTRe A= 3T (Business reference)
(c) fSiY @TereT (Personal means) (d) o7 T T (All of these)
9. IR & FAYLH LIRRCICIES HEl IRFH §34T U1? (Where was the first supermarket started in India?)
(a) STeTehTdT A (in Kolkata) (b) HFS 3 (In Mumbai)
(@) =15 el 3 (In New Delhi) (d) 957 & (In Chennai)

10. GO STSIR & TEI3T T HTHAT g1l 8- (The cost of goods in Supermarket is )-
(a) H (Low) (b) 3rcaf&sh (Highest)



(c) G1HTT (Reasonable) (d) 3737 & FIS 78T (None of these)
11. O ST # fasha gl 8- (Sales in supermarket is ) -

(a) eTohq (Cash) (b) 39X (Credit)

(c) sTehg, 3R &I« (Cash and Credit both) (d) 3131 & IS =Aar (None of these)
12. ST & &9 H AR H FaTfee TEAT & (In the business field the maximum number in India is of)

(a) TAHTAT3T T (Manufacturers) (b) PeaT SATATRET I (Retailers)

(c) YT STITRAT ST (Wholesalers) (d) 3737 & FIS 78T (None of these)
13. fore STTIR & SITATRIT T Aol ST FATAT H T ST & 2 (In which trade the goods of merchants are sold in

large quantities?)

(a) a2l SR (Foreign Trade) (b) PEhT AU (Retail Trade)

(c) 3TATT =TI (Import Trade) (d) &Y eI (Wholesale Trade)
14. ¥ SITIRY I HATU AT &Il & (The services of wholesalers are not meant)

(a) PeaT ATIRAT o feIT (For Retailers) (b) 3caTGent & feIT (For Producers)

(c) 3YRNFAT3T & TIT (For Consumers) (d) ST & IS =T8T (None of these)
15. GILIRITSIT & (Dairy is a/an):

(2)®aT 3&19T (Service industry) (b) TT=ITcAH 31T (Manufacturing industry)

(c) STeAfeTen 39T (Genetic industry) (d) fersenser 39T (Extractive industry)

16. 3oT GE3T ohY T gl & SiT ST TEI3T oh FAHTOT & FIT SeaTiere i Sirell & (The goods which are

produced for manufacturing consumer goods are known):

@) 3-ﬁ?.‘3:|’l‘1:h$ qT 3cqTceh ai-_cﬁ (Industrial goods or producer goods)
(b) SUHTEFAT FEJV (Consumer goods)
(c) FEgacH a&qU (Intermediate goods)
(d) 3udera @t FEqT (All above goods)
17. fovaT 31 T 3nTes fomam & i & 3aedehr 18T @1l ? (Which economic activity does not require capital)?
(a) YSTITR (Employment) (b) STSHTT (Business)
(c) 92T (Profession) (d) 3131 T HIS =Agr (None of these)
18. Tt 3n1er foram 71 gl & foTT S e ITRA TR UTed f3ham SITdT & (In which economic activity income is

earned by satisfying the employer)?



(a) cTIHTT (Business) (b) ST (Employment)

(c) 9T (Profession) (d) SITIR (Trade)
19. UTeh SITIIY AT S & (Wholesalers sell goods)-
(2) TTEY 3THTFAT3AT T (Directly to Consumers) (b) PeerT SATITRET I (To Retailers)

(c) 3UHIFATIIT Y 3Th & GaRT (To Consumers through Post)  (d) ST & alg o1l (None of these)
20. 2ok SYTIRT SITIR T & (A wholesaler deals in )-

(a) fafaer a&q3it ¥ (Variety Goods) (b) fafRrse a&31t # (Specific Goods)
(c) 3itenfarer a&3i & (Industrial Goods) (d) Frsfr a&I31T A (All Goods)

21. dg(-i&qch gehTall O Y ST & (1t is found On multiple shops)—
(a) SRIHAT H TREIAT (Uniformity in Prices) (b) Fract 7 faf@eeTar (Differences in Prices)
(c) AT # 37TASHAT (Higher Price) (d) THAT F AT (Lower Price)

22. AR A TAeTaTT HUSRT ! FATTSAT AT o fohd ToHg # &1 IR & (In which group of cities departmental stores

in India are established)

(a) TR, TUSNITG, A3 (Jaipur, Chandigarh,Lucknow)
(b) T, Ge=T, HIETT (Ranchi, Patna , Bhagalpur)

() FFS, SlelehIcll, de=Ts (Mumbai, Kolkata, Chennai)
(d) TUBITG, YT, ShleTshIdT (Chandigarh, Patna, Kolkata)
23. e SATATRET T STHIFATIT o Tich AT 8-(The services of the retail traders towards the consumers are-)
(a) TG GIAETT FeT=T =T (providing credit facilities) (b) HTel &l &) deh q-gmm (home delivery)
(c) To: 9 oeh TRTHET & (free consultation) (d) o7 T T3 (All of these)

24. SUHTFAT T HeIfSC T T8I ol &l 8- (Gives more emphasis on consumer satisfaction-)

(a) 3cd1Geh (Producer) (b) 2T SITIRY (Wholesaler)
() PeahT T (Retailer (d) WY aTer SATIRY (Hawker)

25. W Geplail ohT YRFST FauyH fohe Cer & g3 &T- (In which country did the multiple shops first start?
(a) 3TARHT (America) (b) TR (India)

(c) SATITST (Japan) (d) I (France)



26. “Scdeh SATIR 1 forar freiia v Aisterraey glely amfew | frelT i 1 &t 3red-caed §9 H e 3f9d

ST |" T YU &- (“The action of every business must be determined and planned. It is not proper to do any
work in a chaotic manner." This statement is ) -

() USds 72Tl &7 (Edward Benthol) () TsH [T &7 (Adam Smith)

(c) 3733 AT T (Alfred Marshall) () . &h. AT T (J.K.Mehta)
27. BIC YA I SR HLAT &- (Trades in small scale -)

(a) TacT Heah AR (Independent Retailer) (b) TN USSR (Departmental Store)

(C) 3YHNFAT TEPRT HUSK (Consumer Co-operative store) (d) a'gﬁmanw& (Multiple Shops)
28. UTeh SATIRT Teh AGcaquT 3T &- (Wholesaler is an important link-)

() peht SITARY AT 3YSIFdT & HET (Between retailer and consumer)

(b) 3cATGeh AT 3T o HET (Between producer and consumer)

(€) 3cHTeeh dUT Tl ST o F;ET (Between producer and retailer)
(d) =737 & Teft & AL (Between all these)

29. U ST 318 g (Super Bazars are examples of)-

(a) AN TUSRY & (Departmental Stores) (b) STeh GaRT SITIR & (Mail Order Business)
() qg{-i{sqeh gehTail & (Multiples Shops) (d) 378 T 1S =1gT (None of these)
30. clg(-i{sé-lch gehlel O a&cIU SrdT STl & (On multiple shops goods are sold on)
(a) Shddl aTehe (Only Cash) (b) hdel 3YX (Only Credit)
(c) sTehg, 3 3R &I+t (Cash and Credit both) (d) 3137 & IS 8T (None of these)
31. 91 (TAeef) IR fhdel R & 81 & (How many types of Foreign trades are there)?
(a)ar (two) (b) TT (three)
(c) IR (four) (d) 9T (five)
32. fArTfaf@a & frg wepR i 3T forar & ver A & & &7 cafaerd Jarit i 3maasaraarg ?
( Which of the following type of economic activity requires personal services as a specialist?)
(a) egadrg (Employment) (b) 92T (Profession)
(c) ST (Business) (d) 39R4erd @Y (All of above)
33. 3AH A SIA-TY AT haT & (Which of these is the business activity)-

(a) HTel ST s I-TashT =T (Purchase-Sale of Goods)



(b) FET H YT T (Worship in the Temple)
(c) JITEhI o TTY EET =TT (Fraud with the Customers)
(d) TXAT & deT # THeTae T (Adulteration in the Mustard Oil)
34. TIQLY JUTTell FHE TIRAVAT 8- (Self service system is main feature of )-
(a) faaTefr HUSR &1 (Departmental Store) (b) STeh GART SATIR I (Postal Trade)
(¢) 3THIFAT TEPRY HUSR Fr (Consumer Co-operative store)  (d) qa AThe &I (Supermarket)
35. 2T SITIRT Sl §SIAT 1T & (Elimination of wholesaler is)
(a) 3T (Necessary) (b) TS (Desirable)
(c) 37aTS=a (Not Desirable) (d) 3TATdTh (Not Necessary)
36. TEI3T o HIUGUT ol 1A T & (Storing of goods is done by)—
(a) P TTIRT (Retailer) (b) 3c9TEGeh (Producer)
(c) e TN (Wholesaler) (d) 3cdrceh (Producer)

37. SHGHTT H AholdT Ul & TolT 31T ¢ (The essential for getting success in business is)-

(a) YaT (Capital) (b) Il ATIATTAS Hare+T (Efficient Business Organisation)
(c) I=F (Machinery) (d) SHATTERY (Honesty)

38. “°ITH, Bl i T &7 & oaeeT H JA¥aaar = Sif@s FEd %I g h ol %’ (“Risk may be defined as uncertainty

in regard to cost, loss or damage." This statement is of)-

() EdTelX (Wheeler) (b) ST (Drucker)
(c) &S (Hardy) (d) HgeT (Mehta)
39. Aol 7 & farerent carawes 3ege S Aol # Fefiehe 76T faar ST Hevar (Which of the following cannot
be classified as an objective of business)?
() RAfATNIT (Investment) (b) 3cUTGehdT (Productivity)
(c) sTaYad= (Innovation) (d) eITACTISR T (Profit earning)

40. TG 3YANTITAT AT FoteT fola=T & hlef AT & (Which of the following creates firm utility)?
(2)eTTIR (Trade) (b) 3T (Industry)
(c) aTfor=T (Commerce) (d) 3TRIFT H & IS 78T (None of above)



QUs § (FR1ETdT dUT JWIRA & dcd)
Part B (Elements of Book - Keeping and Accountancy )

1. AT FT 37T § (The meaning of goods is):

(a) FS, TS¥eTeRT 3USHA SITIR il & (Items in which the enterprise deals)

(b) TFYTT o FT H YT FI AT aTell 7, (Items to be used as an asset)
(c) T Y (All of these)

(d) =TT & IS =TeT (None of these)
2. Uh SHGERT T AT oo, gl STl & ST a6 3791 F8it &Tficdl & 7aTcirey & quTeT: 3FHA &l (A businessman is
said to be.............. when he is unable to pay his liabilities in full.)
(a) TearferaT (Insolvent) (b) eMeraTa (Solvent)
(c) FofT (Debtors) (d) 3737 & 1S 78T (None of these)
3. TS HFIT & (Current Assets is):
(a) 1f# (Land) (b) &¥a=T (Building)
(c) FMNT (Machinery) (d) T (Stock)

4. T8 THT & SRIeT ST 9T 3T o 3TTAFT ST Hgd & (The excess of income over expenditure during a period of

time is called) :

(a) ST (Profit) (b) &1faT (Loss)
(c) YST (Capital) (d) 3137 & P15 8T (None of these)

5. oIGT T&ceh & (Books of Accounts are):
() TST=IT#7AT (Journal) (b) WS (Ledger)
(c) TS ST (Cash Book) (d) & e (Al of these)

6. Teh 3TTYURUT [ Teh SATTATRAS 3UHH Hehe HasT 7 o7 aY S el a1 fyafed g1eft, Fgerar & (A concept

that a business enterprise will not be sold or liquidated in the near future, is known as) :

(a) T@Te] sITHTT (Going Concern) (b) TG hr FRE ZaTS (Separate Unit of Business)
(c) Aifga 1S (Monetary Unit) (d) 313 & 1S 78T (None of these)

7. GAAP &1 QT AT & ( Full name of GAAP is) :

() HTHTI: TeIehc oI@ieheT il (Generally Accepted Accounting Policy)

(b) ATATIT: Tdlehd S@iehat fASET=d (Generally Accepted Accounting Principle)



(c) ATHTI: Tefehe olTeheT 3TATSToT (Generally Accepted Accounting Provision)
(d) 3UFcT 7 @ hIg LT (None of the above)

8. TTe] STTHTT shl AT / 3T & (Meaning of concept of going concern is):

(a) STGETT T o, &1 ST (Business will close shortly)

(b) ST T IRFH AT (Business has just started)

(C) ST T eld Y& (Continuity of Business)
(d) =TT & IS =TeT (None of these)
9. GECTUTeTeT ShT GTET oI YOTTelT &7 3727 & (Double Entry System of Book-Keeping means):
(a) oG -GEcehl & &l AeH H JTATSE (Entry in two sets of books of accounts)
(b) TR 8T AAeT-&T & &Y T3t & 9fafse (Entry for the two-fold aspects of a transaction)
(c) ar faf2at X ST =T (Entry at two dates)

(d) =TT & IS sTeT (None of these)
10. =gehd AT T 'De Computiset Scripturis' ATHeh TETh fohd Fel 7 FehTTRIcT §'§ Y 2 (The book name 'De

Computiset Scriptures' of Lucas Pacioli was published in which year?)
(a)1400 (b) 1494
(c) 1594 (d) 1694

11. AR oI@Tehel WOTTeIT &hT 31T oTH g (The other name of Indian Accounting system is):
(a) AGTSTAT WTT YUTTelr (Mahajani System of Book-keeping)
(b) AT oI@T JoTTell (Munimi Accounting System)
(c) a3 b k=T (Both a and b)

(d) =731 & IS =T8T (None of these)
12. oI@Tehs] o wAhGT YR o eI SIAT T oI@T TohaT SITAT & (Under the cash basis of accounting, expenses are

entered) :
(a) $ITCTeT FoRT ST TR (On payment) (b) TTT &I gl 9X (On expenses being due)
(c) a, b &IT (a, b, Both) (d) 3T T FIg Aer (None of these)

13. AT 97 foha oief-GeT & ToIT dR fonam SITaT & (Debit note is prepared for which transaction):



(a) HATST T ST et o TeIT (For purchase of goods)

(b) Tl T oTehg, AT FeT & foIT (For cash sales of goods)
() ST ATIHT ST o foIT (For purchases returns)
(d) TashT araET &t o ToIT (For sales returns)

14. §EdTedX 0T YATUT H T fohdT SITAT & (Transfer vouchers record) :

(2) sTehc aTcTsT (Cash payment) (b) sTehe; ATTCAAT (Cash receipts)

(c) IR-AHRET eisT-&eT (Non-cash transactions) (d) T8 1S =T8T (None of these)
15. 3f9¢ 31 & FAT Hohd ST &2 (Debit indicates which of the following ?)

(a) TFIFY & gEfe (Increase in Assets) (b) &1 & T (Decrease in Liabilities)

(c) st # AT (Decrease in Capital) (d) T T3 (All of these)

16. Teh SATIR T Yoil X 1,35,000 & 3 &TRIca X 65,000 &, 37eT: SATUR T el FEI! = ? (capital of a business is

¥ 1,35,000 and liabilities are X 65,000, then total assets of the business = ?)
(@)X 1,00,000 (b) X 70,000
(c)X 2,00,000 (d) X 3,00,000

17. IT3cal 9% 4T JHTG 9391 I, A T 9o X 20,000 3 K0T & folw T 10,000 T U 49T TR foham S
(What is the effect on liabilities if a bill for ¥ 10,000 is accepted against a loan of X 20,000 received?)
(a) & (Increase) (b) ST (Decrease)

(c) @15 aRad= =T8T (No change) (d) 378 & 1S =1eT (None of these)
18. fTeT “ g9 oIt T gIfrTT ol AT AT T 3TAT T ATHT T STAT” FeFafedd ¢ (The rule “debit all expenses and

losses and credit all incomes and gains” relates to) :

(a) STTFTITT W (Personal Account) (b) aTEATAe WTdT (Real Account)

(c) SATHHATT @raT (Nominal Account) (d) 378 & 1S =1eT (None of these)
19. “gelT (STHAT)/ISTH M ................... #A ST A &1 (Credit means increase in ..................)

(a) &Tf&rcar T Yair (Liability or Capital) (b) TFafY AT ST (Assets or Expenses)

(c) 3T8YuT (Drawing) (d) SIMUR (Trade)

20. 5hf3 T o ¥ & (The short form of credit is):

(a) Ct. (b) Cr
(c) Cd. (d) Crt.



21. o Giehel FHIAIOT FFITaT = STf¥ca + FaTiAcd HHT Y hleT TaeiT FHIHTOT JEId LT & (Which financial
statement represents the accounting equation Assets = Liabilities + Owner's Equity ?)

(a) Urhs gaTg faaxoT (Cash Flow Statement) (b) 31T faaROT (Income statement)

(c) Y garg faaxoT (Fund Flow Statement) (d) 3T RIcaT (Balance Sheet)
22. ST& TATAT FYTAT o< ST & (When fixed assets are sold):

@) Dol geafaar a9l (Total assets will increase)

(b) SWZ‘\T@F:T §¢IT (Total liabilities will increase)

(c) el FFATIAT T&3 (Total assets will decrease)

(d) e FFTerAt H 1 IRacial el 8191 (There is no change in total assets)
23. Teh YHTUTe o TAATOT fo¥eT 9 3Tk & (Voucher is prepared from):

() TIWIT YHTUT (Documentary evidence) (b) STeTer 9fafSe (Journal entry)
(c) @I 9 (Ledger assessment) (d) 3131 & THY (All of these)

24. oT@Tehe] T s TR 39NN & (Cash Basis Accounting is useful for ) :
(a) ISR & TIT (Professionals) (b) =TT o foIT (Businessmen)
(c) a 3iR b @At & TIT (Both a and b) (d) 378 & 1S =1gT (None of these)

25. EYEXT IET JUTTell 39l =Tgl & (Double entry system is not suitable for) :
() BIC STTIRAT & forT (Small businessmen) (b) §13 =TTRAT & Tl (Large businessmen)
(c) YshrafaY & forw (Capitalists) (d) 3T 3T & ToIw (Al of these)

26 oo, DI GIEXT IWT JOTTell T STeAGTT Pl STAT & | (v, is regarded as the father of Double Entry System.)
(a) SIFF (James) (b) T=2AT (Anthoni)
(c) 3T 31Tes Fh&el (Hugh Old Cassel) (d) og=ha /AT (Lucas Pacioli)

27. I8 TR foh TaT#i § SATIR G §-HTUROT W TR § (The idea that the business is separate from owner -
is based on the concept):
(@) aﬁq&:ﬁﬂ (Dual aspect) (b) 9= SehTS (Separate Entity)
(c) eI (Realisation) (d) ERAT (Materiality)

28. ST ol@Tehe] ésaogau (According to the cost concept) :
(a) FFITIAT AT olWiehsT STSTR Hed TX (Accounting of Assets on Market Value)

(b) FFITIAT T AGTeheT oI Hed TR (Accounting of Asset on Cost Price)



() HFTIET T olETehal STSTR & SITaTd Hed 9T ST a 8T (Account of Asset on Market and Cost Price

whichever is Low)

(d) =731 & IS =T8T (None of those)

29. TATHITA 1Y oh 3TeITal TEAT & GTcdl ol el ST & (The obligation of an enterprise other than owner's fund

are known as):

(a) TFITT (Assets) (b) &TRca (Liabilities)
(c) 4aT (Capital) (d) 3137 & 15 AeT (None of these)

30. SIGTehsT o TcTET oITH & ToTeTd QAT Aal & (The direct advantages of accounting do not include):
(a) facirr faawott &1 fR&ATOT (Preparation of financial statements)
(b) JeTeTTcH=h @137 (Competitive advantage)
(c) eIreT-g1fer &t fAeIROT (Ascertainment of profit or loss)
(d) HFSCE HHG ol T ST (Information to interested groups)
31. 31 AT, 2018 &I X 5,000 HeT & ATl &7 [Ah fohd STt & &G 38 I1H X 8,000 &7 et H ETeh T &7
g & Tah (On March, 2018 after sale of goods worth ¥ 5,000 he is left with the closing stock of ¥ 8,000. This is):
(a) Tah gcT (An event)
(b) Teh oeT-caT (A transaction)
(C) Ueh oloT-GeT T |TY &Y TcaTT (A transaction as well as an event)
(d) o7 A Tk olel-oT o & Teh TeaT (Neither a transaction nor an event)

32. FSAT T HishaT & & 3 ol@Tehe] sl 3fectd TIUT AT 52 (Which is the last step of accounting as a process
of information ?):

(a) oG GEehT H STeT T 3fFGeT (Recording of data in the books of accounts)
(b) Tadir faaRoT & FT F ARILT dIR FHIT (Preparation of summaries in the form of financial statements)

(c) =T &t FFIYOT (Communication of information)

(d) F==AT T fA2ANUT e feidreT (<) (Analysis and interpretation of information)
33. qEUTelT HTT §9 ¥ Foa = & (Book-keeping is mainly concerned with) :

(a) ATFATET THRI I ARIFAT A T (Summarising the recorded data)

(b) 3UTTTHRATT & forT Tt o1 fd@sT Xt & (Interpreting the data for users)




(c) Tafrr T#eT & 3@ & (Recording of financial data)

(a) 373 T IS G (None of these)
34, fFAfafad & Sla-ar 3ma =1 & ? (Which of the following is not an income ?) :

(a) AT 9o fhaT (Commission received) (b) S€eT e fohaT (Discount received)
(c) eaTST 9o fohaT (Interest received) (d) YTt 9T fohaT (Capital received)

35. TR ff2r o Tgel Hed 1 39Tl il aTel SATIIY ohY &4 &Y STl € 2 (What is given to businessman when

he clears his payment before certain period ?)

(a) sTehg, eldr (Cash Discount) (b) T sl (Special Discount)
(c) ST Feldr (Trade Discount) (d) 3137 & 15 AeT (None of these)

36. gl Ud AT HUT & fT IMATST fohg 3raerRon (RAeeted) & 31eTaR fhar ST & (Provision for bad and
doubtful debts is made due to the concept (principle) of):

(a) TfGATIEAT IT TThdT ITYRTT (Conservatism concept)
(b) CJ'\U‘r Tehc I 0T IIGUROT (Full disclosure concept)

(c) =me] FEUfeT 31ROt (Going concern concept)

(d) Th&IAT ITTYROT (Consistency concept)

37. 9 AR AH F T ... 81T 371G g | (Every debit has corresponding................. )

(a) 77T (Debit) (b) STAT (Credit)

(c) THT (Equal) (d) 378 & 1S =1eT (None of these)
38. GIERT oIET YUTTelT oI@T TWT & (Double Entry System keeps records of) :

(a) STTFAITT @I (Personal A/c) (b) aTEATAH @TdT (Real Alc)

(c) =ITHHAT @1 (Nominal A/c) (d) 3137 & T (All of these)

39. AIWTheT & 3UToTeT 3ITEIR & 3ocddTd eI T oIET fohdT ST §1 (Under the accrual basis of accounting,
expenses are recorded):
(a) TS FoRT ST TR (On payment) (b) TTT &I gl 9T (On expenses being due)
(c) ‘a' @ 'b' Gt (“a' and 'b' both) (d) 3137 & 15 78T (None of these)
40. FoIE TSIeTehT eIl & GEeht H oGl fhaT STl g ... FgelTd & (Documents by which records are made in




the books are called ................ ):

(a) IATUTH (Voucher) (b) SRGTehsT JHTUT (Accounting Voucher)

(c) HeT ToIE (Source Documents) (d) 313 & P15 Agr (None of these)



